7000 GeV pp Soft QCD
fan) — T 1 T T T — T T 1 T T T — 1 T T T 1
3 | | -
+ 0.2[— (p+p)/(rt+11) vs |y| (0.0 < p < 0.8 GeV) —
t_ B _
%O g~ ™ LHCB s
= [ --=-- Pythia 6.428 359 5
g 016~ & Pythia 6.428 370 =
T - Pythia 6.428 a N
2 — ---v-- Pythia 6.428 dw _
0.14 1 o pythia 6.428 po ]
IS ¥ Pythia 6.428 pro-gq20 _|
0.1 —
0.08 [— —
0.06 — —
0.04 —
0.02 —
la) _l | | | | | | | ' | | | | | | | |_
:I ' ' ' ' [ ' ' ' ' [ ' ' ! ! |:
2 b =
o [ B
©)
I e I
T ‘.. ]
- (el —— e
e -
2 i _
o — —
0.5 — _
l l . l l

3 35 4 a5

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


